WORKSHEET- 1

Q.1 Choose the correct answer:
1. The difference between 57889 and 36643 is :
(a) 20246 (b) 21246 (c) 22246 (d) 23246

N

. Subtracting 42444 from 76555, we get :
(a) 34111  (b) 34222 (c) 35111 (d) 35101
3.38746—-25301 is :
(a) 13444  (b) 13445 (c) 13446 (d) 13447
4.754132 + 1000 is :
(a) 755132 (b) 754232 (c) 854132 (d) 758132

5.83178 + = 83188

(a) 100 (b) 10 (c) 1000  (d) 10000
6.45782 + = 29354 + 45782

(a) 29354  (b) 45782 (c)O (d)1
7. - 83506=0

(a)o (b) 1 (c) 83506  (d) 1000

8.93571-100 s :
(@) 93461  (b) 93471 (c) 92571  (d) 93671

Q.2 Fill in the blanks : ( using properties)

1.7745x0 = 5.4568 x563=563x
2. x 1=85 6.15123x 1=
3.1234x =0 7.253x458x789=____ x789x235
4.2125x _______ =2125 8.0 x 2569 =

Q.3 Multiply : (with zero concept)

(a) 75 x 10 = (b) 18 x 100 = (c) 32 x 1000 = (d) 7x10000=

(e) 427 x 1000 = (f)4x 10 = _ (g)4150x 10 = (h) 107 x100=

Q.4 Multiply : ( directly using tables )
(a) 104 x 2000 = (b)3x40-= _ (c)16x70= (d) 5x 8000 =

(e) 18 x 500 = ()125x600=___ (g) 12 x 4000 = (h) 170x500=




Q.5 Write first 5 multiples of the following numbers :
1) 15

2) 13

3) 16

4) 12

5) 14

Q.6 Build the tables of 23 and 45 ( formation)
Q.7 Try these :
1. What is one more than:
(@)36759=___  (b)128271=__  (c)378643=___ (d) 412738 =

2. What is 10 more than:

(a) 32359 = (b) 472321=____ (c)275799 = (d) 78399 =

3. What is 100 more than:

(a) 83721 = (b) 825673=____ (c)47132= (d) 87954 =

4. What is 1000 more than :
(@)28939=___  (b)731876=____  (c)39382=___  (d) 966549 =
Q.8 Write the factors of each nos. ( using multiplication )
(@) 18 (b)35 (c)42 (d) 15 (e)63 (f)48
Q.9 Draw the factor tree: (a) 28 (b) 30 (c) 69
Q.10 Complete these using the no. of letters given in brackets as clues :
1. The numbers which are being added is called (7)
2. Two numbers are added in any order, their sum remains the .(4)
3. The answer of addition of numbers is called .(3)

4, added to a number gives the sum as the number itself. ( 4)

U

. One added to the number gives its .(9)
. One subtracted from the number gives its .(11)

. The answer we get after subtracting numbers is called .(10)

6
7
8. The number from which we subtract the other number is called
9

. The number which is subtracted is called .(10)

(7)




